Target: PDS_456  ID: 60002032002  Start: 2013-08-27 03:41:07 UTC  Module: A

Filter options: SAA algorithm 1 (high-shield rate based using a figure-of-merit as evaluation metric), optimized SAA cut

nucalcsaa options: nucalcsaa task not used! Effective exposure time: 47037 sec (100.0%)
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nucalcsaa options: --saacalc=1 --saamode=optimized --tentacle=no Effective exposure time: 46785 sec (99.46%)
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nucalcsaa options: --saacalc=1 --saamode=optimized --tentacle=yes Effective exposure time: 46069 sec (97.94%)
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Target: PDS_456

ID: 60002032002

Start: 2013-08-27 03:41:07 UTC Module: A

Filter options: SAA algorithm 1 (high-shield rate based using a figure-of-merit as evaluation metric), strict SAA cut

nucalcsaa options: nucalcsaa task not used!
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Effective exposure time: 47037 sec (100.0%)
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nucalcsaa options: --saacalc=1 --saamode=strict --tentacle=no

cts/sec

N
LI B B B B

=

%

50 100
Time since start of observation [ks]

90 120

2

7x107
6x107
5x107

—

S S
270

- ¢ o

el | OF R
300 330 360

150 180 210
Longitude [deg]

o e (LR

e I
240

Effective exposure time: 43650 sec (92.8%)
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nucalcsaa options: --saacalc=1 --saamode=strict --tentacle=yes
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Effective exposure time: 42934 sec (91.28%)
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Target: PDS_456  ID: 60002032002  Start: 2013-08-27 03:41:07 UTC  Module: A

Filter options: SAA algorithm 2 (low-shield rate based using rms as evaluation metric), optimized SAA cut

nucalcsaa options: nucalcsaa task not used! Effective exposure time: 47037 sec (100.0%)
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nucalcsaa options: --saacalc=2 --saamode=optimized --tentacle=no Effective exposure time: 46838 sec (99.58%)
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nucalcsaa options: --saacalc=2 --saamode=optimized --tentacle=yes Effective exposure time: 45055 sec (95.79%)
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Target: PDS_456

ID: 60002032002

Start: 2013-08-27 03:41:07 UTC Module: A

Filter options: SAA algorithm 2 (low-shield rate based using rms as evaluation metric), strict SAA cut

nucalcsaa options: nucalcsaa task not used!

Effective exposure time: 47037 sec (100.0%)
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nucalcsaa options: --saacalc=2 --saamode=strict --tentacle=no Effective exposure time: 41361 sec (87.93%)
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nucalcsaa options: --saacalc=2 --saamode=strict --tentacle=yes

Longitude [deg

Effective exposure time: 39578 sec (84.14%)
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Target: PDS_456

ID: 60002032002 Start: 2013-08-27 03:41:07 UTC Module: A

Filter options: SAA algorithm 3 (low-shield rate based using rms as evaluation metric), optimized SAA cut

nucalcsaa options: nucalcsaa task not used!
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Effective exposure time: 47037 sec (100.0%)
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Target: PDS_456

ID: 60002032002

Start: 2013-08-27 03:41:07 UTC Module: A

Filter options: SAA algorithm 3 (low-shield rate based using rms as evaluation metric), strict SAA cut

nucalcsaa options: nucalcsaa task not used!

Effective exposure time: 47037 sec (100.0%)

3 2
: 5

3] 2 S, [3)
@ = o}
2 r S 1 2
a 3 s a
3] L £ 5]

! 3 7x107™"

N ﬂ H n m H N ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 6x107!

: ; : ; : . — : -1

I 6 e m el e e Bt e T 2= ,E'—-wr-j;!w—"-:—rd-—':vr-v:'—fr-vm—\rv‘—y—wr\—r-l!:"- 5x10
Ob 50 00 180 210 240 270 300 330 360

Time since start of observation [ks]

nucalcsaa options: --saacalc=3 --saamode=strict --tentacle=no

Longitude [deg]

Effective exposure time: 41361 sec (87.93%)
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nucalcsaa options: --saacalc=3 --saamode=strict --tentacle=yes

Longitude [deg

Effective exposure time: 39518 sec (84.01%)
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